
DRŽAVNO NATJECANJE IZ LOGIKE 2020.
B KATEGORIJA

RJEŠENJA
Zadatak 1.
Neka moguća rješenja (beskonačno je mnogo različitih točnih rješenja):
1. I ∨N
2. N → I
3. I ∨N
4. I → I
5. I ∨N

Ukupno 15 bodova.

Zadatak 2.

¬(∀x(∀zRxz → ¬∀zSzx)→ (∀y∀wSyw → ∀x∀y¬(∀wRyw ∨ ∀wRxw)))X
∀x(∀zRxz → ¬∀zSzx)

¬(∀y∀wSyw → ∀x∀y¬(∀wRyw ∨ ∀wRxw))X
∀y∀wSyw

¬∀x∀y¬(∀wRyw ∨ ∀wRxw)X
¬∀y¬(∀wRyw ∨ ∀wRaw)X
¬¬(∀wRbw ∨ ∀wRaw)X
∀wRbw ∨ ∀wRawX

∀wRbw
∀zRbz → ¬∀zSzbX

¬∀zRbzX
¬Rbc
Rbc
×

¬∀zSzbX
¬Scb
∀wScw
Scb
×

∀wRaw
∀zRaz → ¬∀zSzaX

¬∀zRazX
¬Rac
Rac
×

¬∀zSzaX
¬Sca
∀wScw
Sca
×

Iskaz je valjan.

Ukupno 62 boda.

Zadatak 3.

s1 s2 s3
2∃x¬x = c N N I
2¬∃x∃y¬x = y ∨2∀x(Kx→ Bx) N I N
¬2¬∃x∃y((Tx ∧ Ty) ∧ ¬x = y) N N N
2¬∃x(Cx ∧ Tx)→ ∃x(Cx ∧Kx) I I N
2(∀x(Kx→ Cx)↔ 2∀x(Bx→ Tx)) I I I
∃x(Tx ∧ ∀y(Ty → x = y))→ 2∃xBx N I I
2(∃xBx ∧ ∃xKx) ∨22¬(∃x¬(Cx→ Cx)→ φ) N N I
2φ→ φ I I ?
2φ→ 22φ I ? ?
2(φ→ ψ)→ (2φ→ 2ψ) I I I

Ukupno 60 bodova.
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